# IDENTITIES INVOLVING THE DEGENERATE GENERALIZED $(p, q)$-POLY-BERNOULLI NUMBERS AND POLYNOMIALS ${ }^{\dagger}$ 

N.S. JUNG


#### Abstract

In this paper, we introduce degenerate generalized poly-Bernoulli numbers and polynomials with $(p, q)$-logarithm function. We find some identities that are concerned with the Stirling numbers of second kind and derive symmetric identities by using generalized falling factorial sum.

AMS Mathematics Subject Classification : 11B65, 11B68, 11B73, 11C08. Key words and phrases : $(p, q)$-polylogarithm function, Stirling numbers of the second kind, degenerate Bernoulli polynomials, degenerate generalized ( $p, q$ )-poly-Bernoulli polynomials.


## 1. Introduction

Throughout this paper, we use the following notations. $\mathbb{N}$ denotes the set of natural numbers, $\mathbb{Z}$ denotes the set of integers, $\mathbb{R}$ denotes the real numbers and $\mathbb{C}$ denotes the complex numbers, respectively.

The ordinary Bernoulli numbers $B_{n}$ and polynomials $B_{n}(x)$ are given by the generating functions:

$$
\frac{t}{e^{t}-1}=\sum_{n=0}^{\infty} B_{n} \frac{t^{n}}{n!} \quad \text { and } \quad \frac{t}{e^{t}-1} e^{x t}=\sum_{n=0}^{\infty} B_{n}(x) \frac{t^{n}}{n!}, \quad|t|<\frac{\pi}{2}
$$

Many mathematicians have studied about the generalizations of these numbers and polynomials. Carlitz introduced the generating functions of the degenerate poly-Bernoulli polynomials (see [2,6,11]). Also, in [1,4,5,6,7,8,9], some properties of the poly Bernoulli numbers and their zeta functions are researched.

Let $\lambda \in \mathbb{R}$ and $\lambda \neq 0$. We note that the generating function of degenerate Bernoulli polynomials $B_{n, \lambda}(x)$ is given by (see [2,6,11]):

[^0]\[

$$
\begin{equation*}
\frac{t}{(1+\lambda t)^{\frac{1}{\lambda}}-1}(1+\lambda t)^{\frac{x}{\lambda}}=\sum_{n=0}^{\infty} B_{n, \lambda}(x) \frac{t^{n}}{n} \tag{1.1}
\end{equation*}
$$

\]

It is evident that (1.1) reduces to the generating function of the ordinary Bernoulli polynomials as below:

$$
\lim _{\lambda \rightarrow 0} \frac{t}{(1+\lambda t)^{\frac{1}{\lambda}}-1}(1+\lambda t)^{\frac{x}{\lambda}}=\sum_{n=0}^{\infty} B_{n}(x) \frac{t^{n}}{n!}
$$

For $n \in \mathbb{C}$, the $(p, q)$-number $[n]_{p, q}$ is defined as follows

$$
\begin{equation*}
[n]_{p, q}=\frac{p^{n}-q^{n}}{p-q} \tag{1.2}
\end{equation*}
$$

Note that $\lim _{p \rightarrow 1}[n]_{p, q}=[n]_{q},(q \neq 1)$ and $\lim _{q \rightarrow 1}[n]_{q}=n$.
In [4], we defined a generalization of the ordinary Bernoulli polynomials $B_{n}(x ; a)$ with variable $a$ by :

$$
\frac{L i_{k}\left(1-e^{-t}\right)}{e^{a t}-1} e^{x t}=\sum_{n=0}^{\infty} B_{n}^{(k)}(x ; a) \frac{t^{n}}{n!}
$$

where

$$
L i_{k}(x)=\sum_{n=1}^{\infty} \frac{x^{n}}{n^{k}}, \quad(k \in \mathbb{Z}) \quad(\text { see }[1,4,5,6,7,8,9])
$$

is polylogarithm function. When $k=1$, the polylogarithm function is appeared $L i_{1}(x)=-\log (1-x)$ and $L i_{1}\left(1-e^{-t}\right)=t$. Thus, the result shows that the poly-Bernoulli polynomials are identical to the ordinary Bernoulli polynomials $B_{n}(x)$.

From the Equation(1.2), the $(p, q)$-analogue of the polylogarithm function $L i_{k, p, q}$ is given by

$$
L i_{k, p, q}(x)=\sum_{n=1}^{\infty} \frac{x^{n}}{[n]_{p, q}^{k}},(k \in \mathbb{Z}) \quad(\text { see }[5,6,8])
$$

In [5], by using $(p, q)$-polylogarithm function, we introduced a generalized ( $p, q$ )-poly-Bernoulli numbers and polynomials. For $n, k \in \mathbb{Z}$ with $n \geq 0$ and $0<q<p \leq 1$, we define a generalized $(p, q)$-poly-Bernoulli polynomials with variable $a$ by

$$
\frac{L i_{k, p, q}\left(1-e^{-t}\right)}{e^{a t}-1} e^{x t}=\sum_{n=0}^{\infty} B_{n, p, q}^{(k)}(x ; a) \frac{t^{n}}{n!}
$$

In the case $x=0$, it leads to $B_{n, p, q}^{(k)}(0 ; a)=B_{n, p, q}^{(k)}(a)$ that is, the generalized ( $p, q$ )-poly-Bernoulli numbers with variable $a$.

In this paper, we define degenerate generalized $(p, q)$-poly-Bernoulli polynomials and make a study the analytic properties of them. We also find some
identities that are related with the Stirling numbers of the second kind. Furthermore, using special functions and generalized falling factorial sum, we derive some symmetric properties of the degenerate generalized ( $p, q$ )-poly Bernoulli numbers and polynomials.

## 2. Some identities of the degenerate generalized $(p, q)$-poly-Bernoulli polynomials

In this section, we introduce degenerate generalized $(p, q)$-poly-Bernoulli polynomials $B_{n, \lambda, p, q}^{(k)}(x ; a)$. We also explore some analytic properties that is concerned with the polynomials.

Definition 2.1. For $\lambda \in \mathbb{R}_{+}, n \geq 0, k \in \mathbb{Z}$, and $0<q<p \leq 1$, we define degenerate generalized $(p, q)$-poly-Bernoulli polynomials by the following generating function:

$$
\frac{L i_{k, p, q}\left(1-e^{-t}\right)}{(1+\lambda t)^{\frac{a}{\lambda}}-1}(1+\lambda t)^{\frac{x}{\lambda}}=\sum_{n=0}^{\infty} B_{n, \lambda, p, q}^{(k)}(x ; a) \frac{t^{n}}{n!}
$$

where

$$
L i_{k, p, q}(t)=\sum_{n=0}^{\infty} \frac{t^{n}}{[n]_{p, q}^{k}}
$$

is the $k$-th $(p, q)$-polylogarithm function. When $x=0, B_{n, \lambda, p, q}^{(k)}(0 ; a)=B_{n, \lambda, p, q}^{(k)}(a)$ are called the degenerate generalized $(p, q)$-poly-Bernoulli numbers.
Since $\lim _{\lambda \rightarrow 0}(1+\lambda t)^{\frac{1}{\lambda}}=e^{t}$, it is trivial that the degenerate generalized $(p, q)$ -poly-Bernoulli polynomials are reduced the generalized $(p, q)$-poly-Bernoulli polynomials :

$$
\lim _{\lambda \rightarrow 0} B_{n, \lambda, p, q}^{(k)}(x ; a)=B_{n, p, q}^{(k)}(x ; a) .
$$

Note that $(x)_{n}=x(x-1)(x-2) \cdots(x-n+1)=\Pi_{k=1}^{n}(x-(k-1))$ is falling factorial and $(x \mid \lambda)_{n}=\Pi_{k=1}^{n}(x-\lambda(k-1))$ is generalized falling factorial with increment $\lambda$.

Theorem 2.2. For integer $n, m$ and $k$ with $n \geq 0$ and $m \geq 1$, we have

$$
B_{n, \lambda, p, q}^{(k)}(m x ; a)=\sum_{l=0}^{n}\binom{n}{l} m^{n-1} B_{l, \lambda, p, q}^{(k)}(a)(x \mid \lambda)_{n-l} .
$$

Proof. Let $n \geq 0, m \geq 1$ and $k \in \mathbb{Z}$. We obtain

$$
\begin{aligned}
\sum_{n=0}^{\infty} B_{n, \lambda, p, q}^{(k)}(m x ; a) \frac{t^{n}}{n!} & =\frac{L i_{k, p, q}\left(1-e^{-t}\right)}{(1+\lambda t)^{\frac{a}{\lambda}}-1}(1+\lambda t)^{\frac{m x}{\lambda}} \\
& =\sum_{n=0}^{\infty} \sum_{l=0}^{n}\binom{n}{l} B_{l, \lambda, p, q}^{(k)}(a)(m x \mid \lambda)_{n-l} \frac{t^{n}}{n!} .
\end{aligned}
$$

Therefore we obtain the above result.

When $m=1$, it satisfies

$$
\begin{equation*}
B_{n, \lambda, p, q}^{(k)}(x ; a)=\sum_{l=0}^{n}\binom{n}{l} B_{l, \lambda, p, q}^{(k)}(a)(x \mid \lambda)_{n-l} \tag{2.1}
\end{equation*}
$$

Theorem 2.3. Let $n$ and $k$ be integers with $n \geq 0$ and $x, y \in \mathbb{R}$. We get the addition theorem :

$$
B_{n, \lambda, p, q}^{(k)}(x+y ; a)=\sum_{l=0}^{n}\binom{n}{l} B_{l, \lambda, p, q}^{(k)}(x ; a)(y \mid \lambda)_{n-l}
$$

Proof. For $n \geq 0$ and $k \in \mathbb{Z}$ and $x, y \in \mathbb{R}$, we have

$$
\begin{aligned}
\sum_{n=0}^{\infty} B_{n, \lambda, p, q}^{(k)}(x+y ; a) \frac{t^{n}}{n!} & =\frac{L i_{k, p, q}\left(1-e^{-t}\right)}{(1+\lambda t)^{\frac{a}{\lambda}}-1}(1+\lambda t)^{\frac{x+y}{\lambda}} \\
& =\sum_{n=0}^{\infty} \sum_{l=0}^{n}\binom{n}{l} B_{l, \lambda, p, q}^{(k)}(x ; a)(y \mid \lambda)_{n-l} \frac{t^{n}}{n!}
\end{aligned}
$$

Note that if $x=0$, then the above result induce (2.1).
Theorem 2.4. Let $n \geq 0, k \in \mathbb{Z}$ and $x, y \in \mathbb{R}$. We have

$$
B_{n, \lambda, p, q}^{(k)}(x ; a)=\sum_{l=0}^{n}\binom{n}{l} \lambda^{n-l} B_{l, \lambda, p, q}^{(k)}(x-y ; a)\left(\frac{y}{\lambda}\right)_{n-l} .
$$

Proof. For $x, y \in \mathbb{R}$ and $n, k \in \mathbb{Z}$ with $n \geq 0$, we get

$$
\begin{aligned}
\sum_{n=0}^{\infty} B_{n, \lambda, p, q}^{(k)}(x ; a) \frac{t^{n}}{n!} & =\sum_{m=0}^{\infty} B_{m, \lambda, p, q}^{(k)}(x-y ; a) \frac{t^{m}}{m!} \sum_{n=0}^{\infty}\left(\frac{y}{\lambda}\right)_{n} \frac{(\lambda t)^{n}}{n!} \\
& =\sum_{n=0}^{\infty} \sum_{l=0}^{n}\binom{n}{l} \lambda^{n-l} B_{l, \lambda, p, q}^{(k)}(x-y ; a)\left(\frac{y}{\lambda}\right)_{n-l} \frac{t^{n}}{n!}
\end{aligned}
$$

The Stirling numbers of the second kind $S_{2}(n, m)$ are defined by

$$
x^{n}=\sum_{m=0}^{n} S_{2}(n, m)(x)_{m}
$$

The generating function of the Stirling numbers of the second kind are given by

$$
\sum_{n=m}^{\infty} S_{2}(n, m) \frac{t^{n}}{n!}=\frac{\left(e^{t}-1\right)^{m}}{m!} \quad(\text { see }[2-6])
$$

In [5], the $(p, q)$-polylogarithm function is represented as the following form with the stirling numbers of the second kind:

$$
\begin{equation*}
\frac{L i_{k, p, q}\left(1-e^{-t}\right)}{t}=\sum_{n=0}^{\infty} \sum_{l=1}^{n+1} \frac{(-1)^{l+n+1}}{[l]_{p, q}^{k}} l!\frac{S_{2}(n+1, l)}{n+1} \frac{t^{n}}{n!} \tag{2.2}
\end{equation*}
$$

From (2.2), we obtain next result.
Theorem 2.5. For $n, k \in \mathbb{Z}$ with $n \geq 0$, we have

$$
B_{n, \lambda, p, q}^{(k)}(x ; a)=\sum_{i=0}^{n}\binom{n}{i} \sum_{l=1}^{i+1} \frac{(-1)^{l+i+1} l!S_{2}(i+1, l)}{[l]_{p, q}^{k}(i+1)} B_{n-i, \lambda}(x ; a) .
$$

Proof. Using the Definition 2.1, (1.1) and (2.2), we get

$$
\begin{aligned}
\sum_{n=0}^{\infty} B_{n, \lambda, p, q}^{(k)}(x ; a) \frac{t^{n}}{n!} & =\frac{L i_{k, p, q}\left(1-e^{-t}\right)}{t} \frac{t(1+\lambda t)^{\frac{x}{\lambda}}}{(1+\lambda t)^{\frac{a}{\lambda}}-1} \\
& =\sum_{n=0}^{\infty} \sum_{i=0}^{n} \sum_{l=1}^{i+1}\binom{n}{i} \frac{(-1)^{l+i+1} l!S_{2}(i+1, l)}{[l]_{p, q}^{k}(i+1)} B_{n-i, \lambda}(x ; a) \frac{t^{n}}{n!}
\end{aligned}
$$

Theorem 2.6. For $n \geq 1, k \in \mathbb{Z}$, we find a recurrence relation as below

$$
\begin{aligned}
& B_{n, \lambda, p, q}^{(k)}(x+a ; a)-B_{n, \lambda, p, q}^{(k)}(x ; a) \\
& \quad=\sum_{r=1}^{n}\binom{n}{r}\left(\sum_{l=0}^{r-1} \frac{(-1)^{l+1+r}}{[l+1]_{p, q}^{k}}(l+1)!S_{2}(r, l+1)\right)(x \mid \lambda)_{n-r} .
\end{aligned}
$$

Proof. Let $n$ and $k$ be integers with $n \geq 1$. We have

$$
\begin{aligned}
\sum_{n=0}^{\infty} B_{n, \lambda, p, q}^{(k)} & (x+a ; a) \frac{t^{n}}{n!}-\sum_{n=0}^{\infty} B_{n, \lambda, p, q}^{(k)}(x ; a) \frac{t^{n}}{n!} \\
& =\frac{L i_{k, p, q}\left(1-e^{-t}\right)}{(1+\lambda t)^{\frac{a}{\lambda}}-1}(1+\lambda t)^{\frac{x+a}{\lambda}}-\frac{L i_{k, p, q}\left(1-e^{-t}\right)}{(1+\lambda t)^{\frac{a}{\lambda}}-1}(1+\lambda t)^{\frac{x}{\lambda}} \\
& =\sum_{l=0}^{\infty} \frac{\left(1-e^{-t}\right)^{l+1}}{[l+1]_{p, q}^{k}}(1+\lambda t)^{\frac{x}{\lambda}} \\
& =\sum_{r=1}^{\infty} \sum_{l=0}^{r-1} \frac{(-1)^{l+1+r}}{[l+1]_{p, q}^{k}}(l+1)!S_{2}(r, l+1) \frac{t^{r}}{r!} \sum_{n=0}^{\infty}(x \mid \lambda)_{n} \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty} \sum_{r=1}^{n}\binom{n}{r}\left(\sum_{l=0}^{r-1} \frac{(-1)^{l+1+r}}{[l+1]_{p, q}^{k}}(l+1)!S_{2}(r, l+1)\right)(x \mid \lambda)_{n-r} \frac{t^{n}}{n!}
\end{aligned}
$$

By using the sum of geometric sequence, we note that

$$
\begin{equation*}
\sum_{i=0}^{d-1}(1+\lambda t)^{\frac{a i+x}{\lambda}}=(1+\lambda t)^{\frac{x}{\lambda}} \frac{1-(1+\lambda t)^{\frac{a d}{\lambda}}}{1-(1+\lambda t)^{\frac{a}{\lambda}}} \tag{2.3}
\end{equation*}
$$

From (2.3), we get next theorem.

Theorem 2.7. For $n, k \in \mathbb{Z}$ with $n \geq 0$, we obtain

$$
B_{n, \lambda, p, q}^{(k)}(x ; a)=\sum_{l=1}^{n} \frac{(-1)^{l+n} l!S_{2}(n, l)}{[l]_{p, q}^{k}} \sum_{i=0}^{d-1} \frac{(1+\lambda t)^{\frac{a i+x}{\lambda}}}{(1+\lambda t)^{\frac{a d}{\lambda}}-1} .
$$

Proof. Let $n \geq 0$ and $k \in \mathbb{Z}$. Then we have

$$
\begin{aligned}
\sum_{n=0}^{\infty} B_{n, \lambda, p, q}^{(k)}(x ; a) \frac{t^{n}}{n!} & =\frac{L i_{k, p, q}\left(1-e^{-t}\right)}{(1+\lambda t)^{\frac{a}{\lambda}}-1}(1+\lambda t)^{\frac{x}{\lambda}} \\
& =\frac{L i_{k, p, q}\left(1-e^{-t}\right)}{(1+\lambda t)^{\frac{d}{\lambda}}-1} \sum_{i=0}^{d-1}(1+\lambda t)^{\frac{a i+x}{\lambda}} \\
& =\frac{L i_{k, p, q}\left(1-e^{-t}\right)}{t} \sum_{i=0}^{d-1} \frac{t}{(1+\lambda t)^{\frac{a d}{\lambda}-1}(1+\lambda)^{\frac{a i+x}{\lambda}}} \\
& =\sum_{n=1}^{\infty} \sum_{l=1}^{n} \frac{(-1)^{l+n} l!S_{2}(n, l)}{[l]_{p, q}^{k}} \sum_{i=0}^{d-1} \frac{(1+\lambda t)^{\frac{a i+x}{\lambda}}}{(1+\lambda t)^{\frac{a d}{\lambda}}-1} \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty} \sum_{l=1}^{n} \frac{(-1)^{l+n} l!S_{2}(n, l)}{[l]_{p, q}^{k}} \sum_{i=0}^{d-1} \frac{(1+\lambda t)^{\frac{a i+x}{\lambda}}}{(1+\lambda t)^{\frac{a d}{\lambda}}-1} \frac{t^{n}}{n!}
\end{aligned}
$$

## 3. Symmetric properties using generalized falling factorial sum

In this section, we find some symmetric identities for the degenerate generalized $(p, q)$-poly-Bernoulli polynomials. Furthermore, we investigate another symmetric results that are related with the generalized falling factorial sum.

Theorem 3.1. Let $n, k$ be integers with $n \geq 0$ and $m_{1}, m_{2}\left(m_{1} \neq m_{2}\right)>0$. The symmetric identity is obtained:

$$
\begin{aligned}
\sum_{r=0}^{n}\binom{n}{r} m_{1}^{n-r} & m_{2}^{r} B_{r, \lambda, p, q}^{(k)}\left(m_{1} y ; a\right) B_{n-r, \lambda, p, q}^{(k)}\left(m_{2} x ; a\right) \\
& =\sum_{r=0}^{n}\binom{n}{r} m_{1}^{r} m_{2}^{n-r} B_{r, \lambda, p, q}^{(k)}\left(m_{2} y ; a\right) B_{n-r, \lambda, p, q}^{(k)}\left(m_{1} x ; a\right)
\end{aligned}
$$

Proof. For $n(n \geq 0), k \in \mathbb{Z}$ and $m_{1}, m_{2}>0$ with $m_{1} \neq m_{2}$, we construct special function as below:

$$
\begin{aligned}
F(t) & =\frac{L_{i_{k, p, q}}\left(1-e^{-m_{1} t}\right) L_{i_{k, p, q}}\left(1-e^{-m_{2} t}\right)}{\left((1+\lambda t)^{\frac{a m_{1}}{\lambda}}-1\right)\left((1+\lambda t)^{\frac{a m_{2}}{\lambda}}-1\right)}(1+\lambda t)^{\frac{m_{1} m_{2}(x+y)}{\lambda}} \\
& =\sum_{n=0}^{\infty} B_{n, \lambda, p, q}^{(k)}\left(m_{2} x ; a\right) \frac{\left(m_{1} t\right)^{n}}{n!} \sum_{r=0}^{\infty} B_{r, \lambda, p, q}^{(k)}\left(m_{1} y ; a\right) \frac{\left(m_{2} t\right)^{r}}{r!}
\end{aligned}
$$

$$
=\sum_{n=0}^{\infty} \sum_{r=0}^{n}\binom{n}{r} m_{1}^{n-r} m_{2}^{r} B_{r, \lambda, p, q}^{(k)}\left(m_{1} y ; a\right) B_{n-r, \lambda, p, q}^{(k)}\left(m_{2} x ; a\right) \frac{t^{n}}{n!} .
$$

In similarly, we obtain next result.

$$
F(t)=\sum_{n=0}^{\infty} \sum_{r=0}^{n}\binom{n}{r} m_{1}^{r} m_{2}^{n-r} B_{r, \lambda, p, q}^{(k)}\left(m_{2} y ; a\right) B_{n-r, \lambda, p, q}^{(k)}\left(m_{1} x ; a\right) \frac{t^{n}}{n!}
$$

By comparing the coefficients of $\frac{t^{n}}{n!}$ in above results, we can verify that the theorem is correct.

Put $p=1$ in the generating function of Theorem 3.1, then we get the next Corollary.
Corollary 3.2. Let $n, k$ be integers with $n \geq 0$ and $m_{1}, m_{2}>0$ with $m_{1} \neq$ $m_{2}$. Then we obtain the result of the degenerate generalized $q$-poly-Bernoulli polynomials :

$$
\begin{aligned}
\sum_{r=0}^{n}\binom{n}{r} m_{1}^{n-r} & m_{2}^{r} B_{r, \lambda, q}^{(k)}\left(m_{1} y ; a\right) B_{n-r, \lambda, q}^{(k)}\left(m_{2} x ; a\right) \\
& =\sum_{r=0}^{n}\binom{n}{r} m_{1}^{r} m_{2}^{n-r} B_{r, \lambda, q}^{(k)}\left(m_{2} y ; a\right) B_{n-r, \lambda, q}^{(k)}\left(m_{1} x ; a\right)
\end{aligned}
$$

If $q \rightarrow 1$ and $\lambda \rightarrow 0$, then the symmetric identities in Corollary 3.2 is reduced that of the generalized poly-Bernoulli polynomials.

Corollary 3.3. Let $n, k$ be integers with $n \geq 0$ and $m_{1}, m_{2}>0$ with $m_{1} \neq m_{2}$. Then we obtain the result of the degenerate generalized poly-Bernoulli polynomials :

$$
\begin{aligned}
\sum_{r=0}^{n}\binom{n}{r} m_{1}^{n-r} & m_{2}^{r} B_{r}^{(k)}\left(m_{1} y ; a\right) B_{n-r}^{(k)}\left(m_{2} x ; a\right) \\
& =\sum_{r=0}^{n}\binom{n}{r} m_{1}^{r} m_{2}^{n-r} B_{r}^{(k)}\left(m_{2} y ; a\right) B_{n-r}^{(k)}\left(m_{1} x ; a\right)
\end{aligned}
$$

In $[10,11]$, the generalized falling factorial sum is defined by

$$
\sum_{n=0}^{\infty} \sigma_{n}(m-1 ; \lambda) \frac{t^{n}}{n!}=\frac{(1+\lambda t)^{\frac{m}{\lambda}}-1}{(1+\lambda t)^{\frac{1}{\lambda}}-1}
$$

Note that $\lim _{\lambda \rightarrow 0} \sigma_{n}(m-1 ; \lambda)=\sigma_{n}(m)$ where $\sigma_{n}(m)=\sum_{k=0}^{m} k^{n}$ is the power sums of the first integers(see $[4,5,9])$. Using the generalized falling factorial sum and (2.2), we obtain a symmetric identities of the degenerate generalized $(p, q)$ -poly-Bernoulli numbers and polynomials.

Theorem 3.4. Let $m_{1}, m_{2}\left(m_{1} \neq m_{2}\right) \in \mathbb{N}$ and $n, k \in \mathbb{Z}$ with $n \geq 0$. Then we have

$$
\begin{gathered}
\sum_{i=0}^{n}\binom{n}{i} \sum_{l=1}^{i} \frac{(-1)^{i+l} m_{2}^{i}}{[l]_{p, q}^{k}} l!S_{2}(i, l) \sum_{r=0}^{n-i}\binom{n-i}{r} a^{n-i-r} m_{1}^{r} m_{2}^{n-i-r} \\
\times B_{r, \lambda, p, q}^{(k)}\left(a m_{2} x ; a\right) \sigma_{n-i-r}\left(\frac{m_{1}-1}{a} ; \lambda\right) \\
=\sum_{i=0}^{n}\binom{n}{i} \sum_{l=1}^{i} \frac{(-1)^{i+l} m_{1}^{i}}{[l]_{p, q}^{k}} l!S_{2}(i, l) \sum_{r=0}^{n-i}\binom{n-i}{r} a^{n-i-r} m_{1}^{n-i-r} m_{2}^{r} \\
\\
\times B_{r, \lambda, p, q}^{(k)}\left(a m_{1} x ; a\right) \sigma_{n-i-r}\left(\frac{m_{2}-1}{a} ; \lambda\right)
\end{gathered}
$$

Proof. If we start the next function
$\widetilde{F}(t)=\frac{L i_{k, p, q}\left(1-e^{-m_{1} t}\right) L i_{k, p, q}\left(1-e^{-m_{2} t}\right)\left((1+\lambda t)^{\frac{m_{1} m_{2}}{\lambda}}-1\right)(1+\lambda t)^{\frac{a m_{1} m_{2} x}{\lambda}}}{\left((1+\lambda t)^{\frac{a m_{1}}{\lambda}}-1\right)\left((1+\lambda t)^{\frac{a m_{2}}{\lambda}}-1\right)}$,
then it holds

$$
\begin{gather*}
\widetilde{F}(t)=\sum_{n=0}^{\infty} \sum_{l=1}^{n} \frac{(-1)^{n+l} m_{2}^{n}}{\left[l l_{p, q}^{k}\right.} l!S_{2}(n, l) \frac{t^{n}}{n!} \sum_{n=0}^{\infty} B_{n, \lambda, p, q}^{(k)}\left(a m_{2} x ; a\right) \frac{\left(m_{1} t\right)^{n}}{n!} \\
\\
\times \sum_{l=0}^{\infty} \sigma_{l}\left(\frac{m_{1}-1}{a} ; \lambda\right) \frac{\left(a m_{2} t\right)^{l}}{l!} \\
=\sum_{n=0}^{\infty} \sum_{i=0}^{n}\binom{n}{i} \sum_{l=1}^{i} \frac{(-1)^{i+l} m_{2}^{i}}{[l]_{p, q}^{k}} l!S_{2}(i, l) \sum_{r=0}^{n-i}\binom{n-i}{r} a^{n-i-r} m_{1}^{r} m_{2}^{n-i-r}  \tag{3.2}\\
\\
\times B_{r, \lambda, p, q}^{(k)}\left(a m_{2} x ; a\right) \sigma_{n-i-r}\left(\frac{m_{1}-1}{a} ; \lambda\right) \frac{t^{n}}{n!}
\end{gather*}
$$

In a similar way, (3.1) follows as below

$$
\begin{gather*}
\widetilde{F}(t)=\sum_{n=0}^{\infty} \sum_{i=0}^{n}\binom{n}{i} \sum_{l=1}^{i} \frac{(-1)^{i+l} m_{1}^{i}}{[l]_{p, q}^{k}} l!S_{2}(i, l) \sum_{r=0}^{n-i}\binom{n-i}{r} a^{n-i-r} m_{1}^{n-i-r} m_{2}^{r} \\
\times B_{r, \lambda, p, q}^{(k)}\left(a m_{1} x ; a\right) \sigma_{n-i-r}\left(\frac{m_{2}-1}{a} ; \lambda\right) \frac{t^{n}}{n!} \tag{3.3}
\end{gather*}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ in (3.2) and (3.3), then it gives a symmetric identity of the theorem.

From the multinomial coefficient, the result of Theorem 3.4 is represented as follows

Corollary 3.5. Let $m_{1}, m_{2}\left(m_{1} \neq m_{2}\right) \in \mathbb{N}$ and $n, k \in \mathbb{Z}$ with $n \geq 0$. Then we obtain

$$
\begin{gathered}
\sum_{n=0}^{\infty} \sum_{\substack{n \\
n_{1}+n_{2}+n_{3}=n \\
n_{1}, n_{2}, n_{3} \geq 0}}\binom{n}{n_{1}, n_{2}, n_{3}} \sum_{l=1}^{n_{1}} \frac{(-1)^{n_{1}+l} m_{2}^{n_{1}} l!}{[l]_{p, q}^{k}} S_{2}\left(n_{1}, l\right) \\
\times a^{n_{3}} m_{1}^{n_{2}} m_{2}^{n_{3}} B_{n_{2}, \lambda, p, q}^{(k)}\left(a m_{2} x ; a\right) \sigma_{n_{3}}\left(\frac{m_{1}-1}{a} ; \lambda\right) \frac{t^{n}}{n!} \\
\left.=\sum_{n=0}^{\infty} \sum_{\substack{n \\
n_{1}+n_{2}+n_{3}=n \\
n_{1}, n_{2}, n_{3} \geq 0}}^{n} \begin{array}{c}
n \\
n_{1}, n_{2}, n_{3}
\end{array}\right) \sum_{l=1}^{n_{1}} \frac{(-1)^{n_{1}+l} m_{1}^{n_{1}} l!}{[l]_{p, q}^{k}} S_{2}\left(n_{1}, l\right) \\
\times a^{n_{3}} m_{1}^{n_{3}} m_{2}^{n_{2}} B_{n_{2}, \lambda, p, q}^{(k)}\left(a m_{1} x ; a\right) \sigma_{n_{3}}\left(\frac{m_{2}-1}{a} ; \lambda\right) \frac{t^{n}}{n!}
\end{gathered}
$$

## References

1. A. Bayad and Y. Hamahata, Polylogarithms and poly-Bernoulli polynomials, Kyushu. J. Math. 65 (2011), 15-24.
2. L. Carlitz, Degenerate stirling Bernoulli and Eulerian numbers, Util. Math. 15 (1979), 51-88.
3. L. Carlitz, Weighted Stirling numbers of the first kind and second kind-I, Fibonacci Quart 18 (1980), 147-162.
4. N.S. Jung, C.S. Ryoo, A research on the generalized poly-Bernoulli polynomials with variable $a$, Journal of Applied Mathematics and Informatics 36 (2018), 475-489.
5. N.S. Jung, A note on the generalized Bernoulli polynomials with ( $p, q$ )-polylogarithm function, Journal of Applied Mathematics and Informatics 38 (2020), 145-157.
6. N.S. Jung, The symmetric identities for the degenerate $(p, q)$-poly-Bernoulli numbers and polynomials, Journal of Applied and Pure Mathematics submitted.
7. M. Kaneko, Poly-Bernoulli numbers and related zeta functions, Algebraic and Analytic Aspects of Zeta Functions and L-functions, MSJ Memoirs 21 (2010), 73-85.
8. T. Komatsu, J.L. Ramírez and V.F. Sirvent, $A(p, q)$-analogue of poly-Euler polynomials and some related polynomials, Ukrains'kyi Matematychnyi Zhurnal 72 (2020), 467-482.
9. C.S. Ryoo, On poly-tangent numbers and polynomials and distribution of their zeros, Global Journal of Pure and Applied Mathematics 2812 (2016), 4411-4425.
10. Hans J.H. Tuenter, A Symmetry of Power Sum Polynomials and Bernoulli Numbers, The American Mathematical Monthly 108 (2001), 258-261
11. P.T. Young, Degenerate Bernoulli polynomials, generalized factorial sums, and their applications, Journal of number theory 128 (2008), 738-758.
N.S. Jung received Ph.D. from Hannam University. Her research interests include combinatorial analysis, number theory and applied mathematics.

College of Talmage Liberal Arts, Hannam University, Daejeon 34430, Korea.
e-mail: soonjn@hnu.kr


[^0]:    Received August 13, 2020. Revised September 2, 2020. Accepted September 9, 2020
    ${ }^{\dagger}$ This work was supported by the National Research Foundation of Korea(NRF) grant funded by the Korea government(MSIT) (No. NRF-2019R1G1A1100687).
    (C) 2020 KSCAM .

